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HanisearoH (noBaroHHa Bignpaska)

gy = 500 kM Lyop = g * kg =500 * 0,55 = 275 km
Cyy = 542 rpH/Ro6Yy 500
tyy == = 3 go6u
ke = 0,55 200
1 knac 275
taop = 200 2 fo6u

I,, = 4205 1,484 = 6 240 rpu
T, = Thop = 191,1+ 4+ 1,088 = 831,7 rpu =9781,7 rpu

B =Cyy * (tyy +tyop) = 542 %5 =2 710 rpn
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HaniesaroH (mapLupyTHa Bignpaska)

gy = 500 kM Lyop = g * kg =500 * 0,55 = 275 km
Cyy = 542 rpH/Ro6Yy 500
toy === = 2 go6u
ke = 0,55 320
1 knac 275
taop = 200 2 fo6u

I,, = 4205 1,484 = 6 240 rpu
T, = Thop = 191,1+ 4+ 1,088 = 831,7 rpu =9239,7 rpu

B =Cyy * (Lyy +tyop) = 542 ¥4 =2 168 rpn
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Kpwuri (noBaroHHa Bignpaska)

Lz = 500 kM Lyop = g * kg =500 + 0,68 = 340 xm
Cyy = 570 rpH/K06Y 500
tyy == = 3 go6u
Jn = 0,68 200
2 Ksac 340
taop = 200 2 fo6u

I, = 4205 2,118 = 8 906 rpn
= Tyop = 237,4% 4+ 1,651 = 1567,8 rpu =13323,8rpu

B =Cyy * (tyw + toop) =570 5 =2 850 rpu




